10. AL E}O]|0f

/ HE R0 HSHO| P45t EO[0f2 AL Ef0|0f T ABkER|A Efo[0f2tn B Lt
V| 2R EL0J0J2t? | mol Eal=(Z) TjTio| Ak Ef0[0{HI} 2T HOm], 1D AAo| o BEYFLCE
AHS Alof 0| TI2{R|= A2)7} HOFRILICE (Let EfO|OJ=CE &S H2] OF 18.4% THE)

V] 20194 22 2% A2 Etojojet MOl AtR 2

X1y BRIy AxgEpl)] Aol | xe Lk A% 2Ef0]0f Aol
HXEM/AZZ £ 20 jﬁxgjvz';ZOmO 2L TR BOATHS
OtAFS|7 2t e
270l = St CHE| *xEFTH|(2E) 517}EL s e
L A7 S8X ¥2,160 oig
= # ¥2700
7|EfD| A3 ¥2, SEX
L}ZFAR| o7
2275 SUV / T & ¥ 1,080
ea Li2|Ela ;’1; oig i —
> [=Jk=1 4
Stu|CHa2 i FOIRE 47 OfloFAl, TjDO 8 BOITHS
== SUV / ®& ¥2,160
S SEX ¥1,620 HE¥2,
P 4 ¥2160 SolEt S8X ¥2,160 i
S8X ¥1,620 471, SV ¥2,700
QA EH : ~a
= A7 ¥2,160~3,240 — S8R
SEX ¥2,160 of71 / F% ¥1,080
= - 4 ¥2700 SEx
oA S8% ¥1,620 v F0AlCH oi71 / X% ¥ 1,080
= 971, SV ¥2,160 =5 = = -
L QFILet | 27|Liet EA 2l olg
SUV / B & ¥ 1,620
S8% ¥1,620 SEX
W o
=t HH ¥2,160 HH / ME¥1,620 XEfY = ?‘_'Eizfﬂl a8
8% 8% ¥1,080 - %ﬂolqu : Tiﬂ . o0 = i sl
. a7, 1% ¥2160 | az ¥2160 - 0[9f X|% 1 2447t 2 2,160 2 2 MY E|0] QlLCh
(&t 240A| ZH7HR| A4
58X ¥1620~2160 | .
= Rk A ¥2,160 st

patian Clb.com



